at.N30343 KITEC

DACIA DOKKER
(no railing)

DACIA DOKKER VAN
(no railing)

2000 _

22 11/12=

RENAULT EXPRESS
(no railing)

(1D ISTRUZIONI DI MONTAGGIO
FITTING INSTRUCTIONS

(DD MONTAGEANLEITUNG

(P INSTRUCTIONS DE MONTAGE
(ED ISTRUCCIONES DE MONTAJE
(P INSTRUCOES DE MONTAGEM
(ND MONTAGE-INSTRUCTIES

(SO MONTERINGSANVISNING
EIN) ASENNUSOHJE

&SD PAIGALDUSJUHEND

CAD STIPRINASANAS INSTRUKCIJA
(D PRITVIRTINIMO INSTRUKCIJOS
INSTRUKCJA MONTAZU

®US MIHCTPYKLMU NO YCTaHOBKE
(€2 NAVOD NA MONTAZ

&K NAVOD NA MONTAZ
NAVODILA ZA PRITRJEVANJE
UPUTA ZA SASTAVLJANJE
(HD A FELSZERELES MODJA
Odnyie ocuvapuoAdoynon
MONTAJ TALIMATLARL
MHCTPYKLWW 3A MOHTAX
GRB UPUTSTVA ZA MONTAZU

|
/

(D ADATTO PER
SUITABLE FOR
(® INDIQUE POUR
(@ GEEIGNET FUR
® ADECUADA PARA

<8

<8
>

oK
V) €

7cm Y-~

-

@ gepriifte
Sicherheit

NORDRIVE
KARGO SERIES

(D BARRE KARGO

KARGO BARS

(F) BARRES KARGO

Kargo
ACCIAIO
Steel

DACH-LASTENTRAGER
KARGO

(ED BARRES KARGO

[Ar. N10000

KarQO'PIUS (D BARRE KARGO-PLUS
ALLUMINIO KARGO-PLUS BARS
Aluminium (P BARRES KARGO-PLUS

DACH-LASTENTRAGER
KARGO-PLUS

(ED BARRES KARGO-PLUS

[A.N10030

CESTE PORTATUTTO
KRS-7 / KRS-12

KRS-7 / KRS-12
VAN ROOF RACKS

GALERIE

KRS-7 / KRS-12

@ DACHKORBEN
KRS-7 / KRS-12

BACAS
KRS-7 / KRS-12

12cm Y-~

CRDRIVE

TRANSPORT SOLUTIONS



CONTENIDO

) NCRDRIVE

CONTENT ¢ CONTENU ¢ INHALT e

CONTENUTO -«

TRANSPORT SOLUTIONS

001

. N30343

001

l

o

091B

l

0 _

090B

2

N

|

089B

_
/

Ny

18

6/
1xYEAR

|

088B




@
=)
NS 43
M8x45
40rE001 60808045 62880800 60cE8045
@ O
©
70 20 190
M8x70 = M8x90  a M8x100
60ce8070 60c8090 60cE8100 6100815
10
(= O )
B
28-216
61FNO816 660rR20CN 60r0003 72FEQ001
72FE0003




Steel

\\ ,'l ,
\\N ~~~~~ - : é -ﬁ

1
! S

3kg "\

ALLUMINIO
Aluminium

il
A

\ —)—=C)




(D ISTRUZIONI DI MONTAGGIO
FITTING INSTRUCTIONS

(DD MONTAGEANLEITUNG

() INSTRUCTIONS DE MONTAGE
(ED ISTRUCCIONES DE MONTAJE
(P INSTRUCOES DE MONTAGEM
(D MONTAGE-INSTRUCTIES

() MONTERINGSANVISNING

@) ASENNUSOHJE

ESD PAIGALDUSJUHEND

CAD STIPRINASANAS INSTRUKCIJA
(D PRITVIRTINIMO INSTRUKCIJOS
INSTRUKCJA MONTAZU

®US VHCTPYKLUMU MO yCTaHOBKE
(€2 NAVOD NA MONTAZ

GK NAVOD NA MONTAZ

GLO NAVODILA ZA PRITRJEVANJE
UPUTA ZA SASTAVLJANJE
(HD A FELSZERELES MODJA
Odnyie ouvapuoAodoynon
MONTAJ TALIMATLARL
MHCTPYKLINM 3A MOHTAX
GRB UPUTSTVA ZA MONTAZU




Q%
7™ 6Nm
l =‘k .

=7

3
-_—




v
=
Q-
o
o
G
b4

)
—
Z
<
=

L
2
O
]
4
L
-
<

y AN 4B 455 L S 455 L5y &Y £y L5y &y &y £y &y &5y L&y &y &y &

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\

. A N VNV Y " U " N " Y Y ™ A VA WV UV S N A " N " R ™M™







" hv
QD
~—
=
\»ﬂ”
N =
mw,
‘rw.//




OPTIONALS rer/FOR/FUR:

Kargo serie:

Acciaio / Steel

KARGO ROLLER

HCRNDDDE K-0 L=64cm
GO AR DY K-7 L=9%cm

—<]  LOADSTOPS

N11001 UG

LOAD STOPS

[N11002 IS

SPOILER

A\ANDEXE K9 L=95cm
(MR N K-11 L=110cm

10



OPTIONALS rer/FOR/FUR:

Ka rQO'PIUS series =

KARGO ROLLER

GO RRDED R KP-0 L=64cm
WMDY KP-7 L=9%cm

EYE-BOLTS

[N11033 [

L N N\ SPOILER

CANDEYA KP-9 L=95cm
CNNDEY:R KP-11 L=110cm

11




OPTIONALS rer/FOR/FUR:
Ka rg O series !ggsrg O'PI us @@"”

Acciaio / Steel Alluminio / Aluminium

KARGO-TUBE

OCNRDED R T200 L=205cm
OCKNOEYE T300 L=305cm
AWM EPE T400 L=405cm

LADDER STEP
ADAPTER

LADDER HOLDER
STRAPS

RICHIESTO
REQUIRED
REQUIS
ERFORDERLICH

NECESSARIO N99985

EXTENSION ROLLER

U0 L=64cm
U-7 L=9cm

Production lot number to be communicated for any spareparts | ~ TRANSPORT SOLUTIONS
(P Lot de production & communiquer pour toute piéce de rechange
(@ Produktionscharge fiir eventuelle Ersatzteile

(® Lote de produccién a comunicar por cualquier repuesto

NORDRIVE® is a registered trademark of LAMPA S.p.A.
Via G. Rossa 53/55, 46019 Viadana (MN) ITALY
Tel. +39 0375 820700 UNI EN 1SO 9001:2015 Certified Company
service@lampa.it
www.nordrive.it www.lampa.it

/® Lotto di produzione da comunicare per eventuali ricambi } N RDRIVE®

91CA0383 r03

\Loto




